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SV FEW ol Cpaaad) le dg82a —2-4
: Lf*f}!\ e deans Haall b cpall dalad) foalial) aladind die aglas o8 LS
(y+a) =y+a
(;(Jra)z =y’ +2ay+a’® = y*+Clay+a’
(y+a)’ = y°+3ay? +3a’y +a°
=y*+Clay*+Cla’y +a’
(;(+a)4 =y'+Clay’ +Cja*y’Cja’y+a’

(;(+a)6 =;(6 +Céa;(5 +C26a2;(4 +C§a3;(3 +Cfa4;(2 +C56a5;(1 +af

A binomial 1S a polynomial with two terms such as x + a. Often
we need to raise a binomial to a power. In this section we'll
exploore a way to do just that without lengthy multiplication.

(x+a) =i Can you see a
pattern?

Can you make a
guess what the next
one would be?

w
w
w

4 4
x+a) =fH__ax'+ _a'x’'+__ax’+__a'x+a

We can easily see the pattern on the X's and the &s. But what about the

coefficients? Make a guess and then as we go we'll see how you did.
e
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Let's list all of the coefficients on the ¥s and the &s and look for a pattern.

S | ! 1 _
(x+a) =1x° +5ax* +10a%° +10a’x* +5a*x +1d°

UY—’1

'x+a)1 =lxtla

2

x+a) =1x*+2ax+1d° *

1+g+§+’ '1

(x+a)

(:c-l—a)3 =1x’ +3ax’ +3a’x +la

" 1 3 ™M0+10
( ) Can you guess

4 ,
x+a) =lx* +4ac +6a*x* +4a’x +1a’ the next row?

1Al AL () oul s Giipa cpaadl (63 jualkal) (e IS sl all) iyl o ey Dlel (e
Agsaall 13gd Tas (N+1) o Jmand Wild /N/ (S5 cage maama ol A (y+a) akall ad) 13le
GIBY aal) ety Lai C/ Alalaag 7" Ao AN aally Cf Alalaag 4" Jg¥) 2l Gl dus

..... Jiag C! dlalaag "2 o

0 - . - . + & . .
(1:;( :Z““:Z)o,.giu )y e ey ¥ sl Al aal) ) Js—agl) Al s
D opaad) o) dlssial dalal) disal) Ao Juans addey C (gybuw Aalaag

(y+a)" =Cla’y™ " +Cla'y" +Cla’y"? +Cla’y"?

o
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(@a+b)*=(5)a™+ (7)) a™ b+ (3) a2+ (3)a" b3 .....

HM)a™ b oo+ () BT

Ciage punia 22 N o Cua
DAY Galedll (7 +@)" cuaal) (65 sSia (e Laadlg

Nl = SeSaal) agas e -1

L0 AN e o am s g Gl il -2

‘N a e s o lasa o Al -3

o skt aall agan e as gl a5y uj&w_4

.awiﬁr&:\;CP 98 an (S Julae =5

OB adde Bl dpaS Gl (golut Auulgls lsSiall Ay (e a8 (Al dgaal)l CBlales =6
Cr=Co

DY) 2l Jales = oY) asd) Jalas (6

-l o ) aad) Jabes = Aol (o S 2ad) Jalas
Cr?flzcln

Il e anny Y] o i b L oSa I y+@ Gt Salae of Ll ciy =7

n | <l | G| C | C | C | C | G| G
1| (y+a) | 1 | 1

2 | (y+a)| 1 | 2 | 1

3 | (g+a) | 1 | 3 | 3 |1

4 [ (yra)'| 1 | 4] 6 | 4|1

5 (yg+af | 1 | 5 10|10 5|1

6 |(y+a)| 1 | 6 |15 20| 15| 6 | 1
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Row O
Row 1

Row 2
Row 3

1. Pascal’s triangle

1
1 1
1 2 1
1 3 3 1
1 4 6 4 1
1 5 10 10 5 1
1 6 15 20 15 6 1
1 7 21 35 35 21 7 1
1 8 28 56 70 56 28 8 1

Each value is obtained by adding the two in the row above which are just to its left and right.
E.g the value 10 is found from 4 + 6

The next line should be: 1, 9, 36, 84, 126, 126, 84, 36, 9, 1.

2. The Binomial expansion

(a+x)°=1
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(@a+x)! =a+x

(a+x)?> =(a+x)(a+x)=a+2ax + x>

(a+x)® =(@+x)@a+x?=(a+x)(a®+2ax+x?)=a*+3a’x+3ax’+x°

(a+x)*=(a+x)(a+x)?

=(a+x)(a®+3ax+3ax?+xd)=a*+4a¥x+6ax>+4ax®+x

Use the seventh row of Pascal’s Triangle to find the
binomial coefficients.

800 801 802 803 SC4 805 SC6 807 808

Solution:
| 7 21 35 35 21 7 L e— Seventh row
1.7 N8 N\287 N\s567 N\707 567 28/ \g” \
I I | | | | | | |
sCo C) G sCs Ca sCs sCo sCy sCy

Example 2: Expand (x + y)* by binomial theorem:
Solution:
49 (4) x4 4} 4-2 2 4\ ,4-3 3 4
Goryt=xt () x Ty (3) %2y (3) x0Ty ey
3 4 X :‘ Bk 4+ X 3 X 2 3
= x'+ 4X"_\’+ Xy t———— Xy + ,VJ
2x1 3x2x1

1 3 2.3 3 4
=X +4X'y+6x°y +4xy” +y

6
(%Z+3zj el SeSie angl

@ x+ 37T =Cg [% z)e (37)° +Cq [% zjs (37) +Cé [% ZY (3)
+C¢ G ZT (37) +Cq (%jz (37)' +C§ (% 1)1(3;5)5 +Ce [% z)o (37)

1 9 135 135 1215
==+ =m+ zz4+—7313+7

it 4% +7299°% y +929 4°
6a” 10 167 2 v yATISSX
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(x+7) =Cox® %  +C ™ +C5 )y 522 +CS )=
+C4515_4}/4+C55Z5_575

(x+7) =2°+57 7 +10%° +104°7° +54"y* +5°

HES KN | JREI P q_;;
(87 +2a) =CJ(3x) (2a) +C;(3x)" (2a) +C;(3y) (2af
+C3(37)"(2a)’ + C5(3x ) (2a)* + CJ (3% )’ (2af

\6
Example 3: Expand by binomial theorem [n - l]
a

Solution:

B R R

6x5x4%3 ,f 1) 6x5x4x3x2 1Y 1
———————a | —— |+ : al —— | +| ——
4x3xl2xl a 5x4x3x2xl a a
15 6 1

2° 5 6
a a a

=a%.-6a*+15a°-20+
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Example 4: Expand ( - —]

Solution:

=
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s

I
o
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M
b

_l_
.
Y
] \-\—\_ _-‘.
tad /.4——_—-\.\
) IJ | wl-.l
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da
s
Mo
\._______,-.:

+

2 4 x> 8 16
- X X2 4 x 816
16 8 x 14 %2 2% x
1
= ——‘(j ﬁxj—E_Fg
X b4

i Sl maiang (Z+a)” Jlsid) éa gﬁm (-8) oy o 4ild (Z+a)n il e Sy
(x-a) =" +C (—0)1 7+ (—a)2 7 (—0)3 s

= Z” + C1’101Zn_1 n C; _ aZZn—Z _ C:I; _ a3;{n—3

+....+(—1)"a”

o Lnge gl (8 puall sl ()5 ey ((dinge o5 Al o inge ) agaall o) of s ¢ Alhadla
CNdad e el T Ul
clle a1 aal 0 Lajh a1 aall IS 13l Cange (05 Y1 aall (fd Ty Taae culS 138
il oS angl ¢ Jlia
(2-77f =22 —5(2)* () +10(2f(»* ] -10(2)*(*)
+5(2)*) - ()

:32_507/2 +80]/4 _4076 +1O]/8 _}/10
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(/2 =7* o a5 558 ¢ Aaade
4
(1_@ P ) sSid) e aagl 1 e

2 Jadl

3 4
ST S| A DY AV S W ARV A
¢ (3 XX TRy AT g A
4_ 4 E 4_i 4 i 4
X TRE Tkl Tk Tk

,(81-108+54-12+1) 16 ,
x 81 817

X

5 0 1 2
1 1 1 1
X X X X
3 4 5
1 1 1
i -2) s3] w2 2
X X X
— /{5 _51—114 +1OZ_ZI3 _10%—3¢2 +SZ—4ZI +z—5
=2 -5 +104' -10y 7 45 + 4

5
[Z_l] FERIERII I

(r+2)  coasd &) sl 2agl 1 Jla
2 Jall
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- 254 2 1o
aG-or* © TuE-0¥ ° Tae-2p”F

5! 401 5! 550

2 i
a4 © TEE-st
:(1*32)+(5*16><)+(1O><16;(2)+(10><4><3)+(5><2;(4)+)(5
=32+80y +150%% +40x° +101* + 4°
Dol g e b alal) aal) ~3-4
:Oi@aﬂedﬁl&“ @D AeSaa (e
Uy =U; = J¥ aali = Cla%y ™

Uy, =U, = el sl = Cla’y"?
Usyy =Uy = &bl aall = Cpa‘y™*

nqr . n-r
U, =.Wal =Clay
comal) (65 e b an (gl alay) gk plall aad)l DA (g 43ld dile 3L

12
1 . . 5 5 %

:dall

ur+l :Cra Z

Uy =Ug,y = Cézllz_g ((_ 2)()71 )9
=2204°%-27 47"
=2204%°*512
220
= SEZ
550
= EZ

4 le pais

https://manara.edu.sy/



https://manara.edu.sy/

(72 +27f dsSie 3 Gualadl sadl sl 1 Ol
U, =Cra ;™ g
ool (53 dsSie b olal) ]
us =CE(?) (2)"
D o Bxqp 4

=(70)°® *16y*
=70%16y"* y° =1120y" 4/°

5
1 £
[;53—2—2] Aean b 7 JEI ol angl 0 Jla
Y : :

Up s e B asll o Gasis 2 dadl

_ (_ 1)r ok ZlS—Sr
OsSe Leie 7 e WA aadl 138 (sSs
Z15_5r 1
— 15-5r — 0
=15-5r=0

5r=15—>r=§=3

VRN Y N AU SR EN (RN G
. Lﬁ,m aall Jaa z\.n:\éj

3
o-elgp )

*A*2 _ _ _
/_5*4*3,-1 -10 -5 1.
2*1 8 8 4 4

https://manara.edu.sy/



https://manara.edu.sy/

o)li_aJl

D opaad) (o) gsha B as (ol Jalaa ala)

o5 Cun ¢ cpaall (53 @eSaal alad) aal it cne G Legiye 050 A ol Jalae Sla] ia
sl uif e doant & Gag ¢ aladl aal) 8 Gigllaal) (a5 Cagllaal) aall Al g giyall (V) G Blslaal)
- gl aal) Jalaa djae e WiSa (53)
(1+37°) connd) 63 ssin 3 2™ sall Jalea ngl ¢ Jlia

. . 18 .
U 4 @l M‘&)@-L":‘Z Ol gt : Jadl
u C:‘Ial’ln—r
_ o
=C/(37°) @)~

r

r+1

u

r+l1

Bplo) s il) 385 7 e (ggimg Upyy aad) of g
donc: % ="
Ir=18=r= @ =6
3
rade s il ol (o Uz sl ga il 3 27 sadl e (i o aal) 20
U; =Ug,, = C67 (3)(3 )6 (1)7_6
7!
- 709,
676y
=T7xT729* y*° =5103 "
5103 sa 27 aall Jalas lé aides
(L+272) conll b dsSin 3 7" dalae 39+ Jtia
. . 10 =« .
Upg 4 gl asdl 3 peldss 77 o (i ¢ Jadl

us =Co 27 ) @
=C/( @
=C/(2)) 2
POl Asiat) Gam 1 e (gims Upy asd) of g
er =le

2r:10:>r=%:5

f ol Up Gl sal) g sSadll 3 7Y e (g g3l) aall L
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u; =Cs (2] W
U, =6x32x 3"
Uy =192
(27 +3) assaal 37" gsins 3 anl) Jalas 2ngl 1 Jlia
g . 4 .
Upp 4aip gl aall 3 el 7 o) (i s Jadl
Uy =C; 3 (27)"
— Cr63r *26—r *ZG—I‘
PO ) s Y e gging Upy sl o Casg

4 6-r

V4
—-r=r=6-4=2

P sle duanid alall aal) 8122 5 (ages aal) Jelae dlady GBI a8 1 (gsing @ a6
Uz =C§32 *26_2?(6_2
U, =15x9x16y* = 2160 "
2160 (sl Alalra z* e gginy @A) 2l G

= AN
N o

The coefficients of the binomial expansion are called binomial
coefficients. The coefficients have symmetry.

+3P =1 +5xy+ 10552 + 102"+ 5x3* +
(x+ ) & i ¥ y3/, xy‘/ﬁ

The first and last coefficients are 1.
The coefficients of the second and second to last terms
are equal to n.

Example 1: What are the last 2 terms of (x + })1°?
Since n = 10, the last two terms are 10x)® + 119,

Example 2: What are the last 2 terms of (x+ 2)19?

Since n= 10, the last two terms are 10x2F + 1y*°.

Use a calculator to calculate (2f = 510 then multiply it by 10
Your final answer should be 5100x+ 1.
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P osds e ST dgag Jla B cpaall () dgSha —
S 13 S ¢ ST ol agan A (s e ST gSie dlagy cpand) (63 Aol aladnal (Sadll
YA Lo laial) (oS laaiad aaly aa ) ath i ad) (e 4l (y+a+b)" @lsSadl L

(z+a+b) =[y+(a+b)]
=" +C(a+b) +C (a+b)2 f4a

Br2+27+1f ¢ V) ASaa 2l ¢ Jlia
:dall
@3 Ak alaan ) e Al o3 By [ gan A [ cpas e ST e ity eSaal) 13 o Bl
Ljlai dad 5 ey laaly s Jie (27 +1) of Dloel @lldy s ) agas 2N Joay @lldg sl
[3;(2 +(2;(+1)]3 Aeaa Aagy cpaall (53
(Br" +27+1) = 37" + (2 +1)f
=(322) +Ci 2y +1)f3r7) +C3 (2 +17 (327 ) +C3(2x +1)
=277 +3(2y +1)0y* )+ 34y % + 47 +1)372)
+87° +(27)* +3(2¢)+1
= 27;(6 +54;(5 +27;(4 +36;(4 +36;(3 +9;(2 +8;(3 +4;(2 +6y+1
=27x° +54° +63y" +44° +134%6 +1
(o VB) + (7 +VB) e i cumdl (5 i Aad ansf + Jia

: Jall
(¢+V8) = 2* +CiVB(2f +Ci (V5 ()
+CHVBJ y+C(VB) ()
(;(+\/§)4 = 7' +45,% +3042 +205+25 (1)
(;g—\/E)“ = 4" —4J5,° +304% —205+25 (2)
P le deasid (2) e (1)
(Z+\/§)4 +<;g—\/§)4 =24"+60y° +50
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(r+a) —(r-a)° JsSaall dad angl Gaaall (63 Aoyl pladinly ¢ Jla
2 Jadl
(;(Jra)s =y +Clay®+Cla’y+a’
=y +3ay*+3a°y+a’ (1)
(r-af =2°-3az*+3a°y-a° (2)

(y+a)’ —(y—a)’ =6ay?®+2°

D omaadl o) dgda B 3gaall cDlalra ailad —6—4
: L..si dgludia o llita cpas L..gi EDlalaa ) (1

cl=cn
Cl :Cn—l
Ck :Cn—k

2" Gol Cpaad) (63 lgSha (A aganl) cDlalra goara o) (2
2" =(1+1)* =2" @
D sl anlgl (gsluy S 2l Gy aalgl) (glew JSV1 aall 8l
2" =(1+1)" =CY+C! +C2+C’ +.....+C

(1+1)5 S oSaall dad angl : Jlia
:dall
@+1 =C’+C'+C2+C2+Cr+C’ +
=1+5+10+10+5+1=32
2° =32 o

(a+Db)" (3 dsSie Dol gyana 25l : Jlia
:dall
(a+b)" =a* +4a%b +6a’b? + 4ab® +b*
=1+4+6+4+1=2"=16

(2 +7) dsSie b Gualdll sall angl + Jlia
:dall
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7-4

U, =Us = C;74<Zz)
=£%ﬂ@ff
=35y"»°
(L+a)" Jlaal alasiul ded sl : Jla
2 Jadl
(y+a)' =" +Clay"* +Cja’y " +..+a"
POl Al (Bl b (7 =1) s
(1+a)' =C} +Cla+CJa’ +Cla’ +...+a"
P OsS Cinge pnaa 32 N ) g
n(n—1)a’ p n(n—1)n-2)a®
2! 3
POl (1+(-a)" D b a=-a g
n(n—1)a’ .\ n(n-1)fn-2)

@+a)" =1+na+ +..+a" (@

@+(-a)" =1-na+ a’+..+(-1)"a" (2)

! 3l
2 0 Laxie &l
L I oSaall dad angl : Jlia
1-x
:dall
1 1
=—=(1-
w, -z
1 —(-1-1) , (-1(-1-1)-1-2);
=——— -1 _
1=y AT T AT e )
=1+ y+ 2+ 70 Cslhall s
! & 5Saall daid aagl ¢ Jlia
1+ y
2 dall
e 1
7 L+2)
)*(=2) . (-1)-2)-3)
=1l-y+ T 77+ 372+ =l gy+ -+
2 AY) ola) e aagl cpaal) @ dylas aladnaly ¢ Jla
c)-(5.99)* b)-(1.03)' a)—(101)’

:dall
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P e deani (1) D) Hadauls (a
(101)° = (1+100)°

=1+3*100+

3(3-1)100)° + (1007

60000

=1+300+ +1000000

=1+ 300+ 30000 +1000000 =1030301

das (1) A8 sl (b
(1,03)* = (1+0,03)"

=1+4(0,03)+ # (0,03)° + W (0,03)° +(0,03)*

=1+0.12 +6(0,0009) + 4(0,000027) + 0.00000081
=1+0.12 +0,0054 + 0.000108 + 0.00000081
=1,12550881

t e deani (2) 4Dl Hlasiuls (C
(0.99) =(1-0,01)*
=1+4(-0.01)+6(-0,01)" +4(-0,01)’ +(-0,01)*
=1- 0,04 —0,0006 — 0,000004 — 0,0000001
= 0.96059601
2 Ay A G a=1 pang

1)a®

1+a)' =1+ na+%+n(n—l)(n—2)a3 +..+a"

Pl a

@+1)=C)+C/+CJ+..+C)=2"

(2)° = (@+2)" Aasd slaY cpaall (3 Akas plasiad + Jla
:Jad)
(2)° =(@+1)° =C +C°+C* +C +C° +C° +C°
+C2+C° +Cy° +Cyy
=10+45+120 + 210+ 252 + 210+ 252
+120+45+10+1=1024

P ol aas Al (1) Al 8 a=—1 gy Al & L
1-1)"=Cl-Ccl+CY-CP..+@1)C"=0 (4.6)

p ol and (4) Al g
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n n n n n n
Cy+C+C, +...C +C +C +....

b S g il als cpaad) (53 dgSia -
A eSia of le linagl LS

n(n—1)a’
21

(1+a)" =1+na+ +..+a"

Wl o linge ) e ol callis zramia 220 (N) 050 Ladie Wl chinge ams Tase () e Loic el
P AEY) AR (35 eaay kel lgSaal) (a (

2
@+a)" =1+ na+%+ ....... (7.4)

2L 0sSs Laxie el
cagaall (e Al Y Aldidie ge Blie e<aall o) oyl ol (7.4) Al (e Ly

HSia gl Jla
b)-(L-7*) a)-(L+z)’
2 Jall
Pl deanin = -2 g @l (5) Al Llaills (@

(-2)-2-1) (-2)-2-1)-2*2)
(1+Z)21+(—1)(Z)+—2*1 (22)+ gl 0.
=1-2y+3y° —x° +......

] —2)-2-1)- 4
1= )"~ (-2 22D
2
L (C20-2-1-2-2)-47)
3%2*1
=142y +37° +4y+.......

D AEY) palal) $eSia angl 1 Jla

o o
TR
Sl B
¢ (e}
S =

:dall
(5) a3 n:% s V104 sl -a
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